A A

KuaKocTHOM MogorpeBaTe/ib
HYDRO D10 12V u 24V (au3enb)

KoMmiiekT mocTaBKu

HYDRO D10 12V
HYDRO D10 24V

ousenb



722

Conepxanue:
HaunmenoBanue Ne Pucynka Crpanuua
O0bEM nocTaBku Puc. 1 3-4
Moaudpukanusi 000py10BaHNUS
Haent. Ne HanmenoBanue 6a30B0ii NOCTABKHU MO0TpeBaTENS
HYD12D10 HYDRO D10 12V (ouzenv)+kaasuwinsiii svikitouames
HYD24D10 HYDRO D10 24V (ouzenv)+kaasuwnsiii svikitouames




Aee

* (603MOICHBL UBMEHEHUST)

O0BLEM mocTAaBKH®

Puc.1
Koua-
Ios. B0 12B| 24B ID Ne HaumenoBanue IIpumeu.
1 1 X - Otommurens HYDRO D10 12V (nu3ens) B xommexre
1 1 X - Otonurens HYDRO D10 24V (au3enb) B xommexre

2 1 X x | A1319455 | llmanr HYDRO 18mwMm (pe3una)

1 X - TorumsHbl Hacoc HYDRO D10 12B 65Mi1
3

1 X A1320294 | Tonnusube Hacoc HYDRO D10/D15 24B 65m1
3a 1 X X - I'py30B0ii TOMIHBO3a00PHHK




7Z22

Io3. Ii(::]_ 12B | 24B ID Ne HaunmeHoBaHnue IIpumeu.
0.03 | x X A483931 | Tommusonpoa HYDRO D10/D15 (200m) 200m
4
1 X X | A1320301 | Kommiekt TormmuBHOM Maructpaiu Hydro D10
) 1 X X | Al1322431 | TpyOka BeixionHast (ru0Kasi, CTalb)
D=38mm/42mm, L=1m HYDRO D10/D15
Tpyba 3a6opa Bo3ayxa (rudkas) HYDRO
6 1 1 | x| x| ARS8 i ny S (D=0dwm, L=0,7w)
7 1 X X | A1321926 | ’Kryt npoBoAOB U1 TOIUIMBHOT'O HACOCa SM.
8 1 X X A9024910 | >Kryr mpoBoaoB ocHoBaoii HYDRO D10/D15
L=5m
9 1 X A9032550 | BeikmrouaTesb KJIABUIIHBIHN (J1Ba MOJI0KEHHUS )
HYD24D10 24B
9 1 X A9032551 | Beikirouarenb KIaBUIIHBIA (OTHO MOTOXKEHHS)
HYDI12D10 12B
1 X % | A1321081 ITynep coequHUTENbHBIN yriaoBoi 18x18
MM (TIJIACTHK)
10 1 X x| A1314327 Htyuep coequuuTenpHplii 18x18 Mmm
(acTuk)
Xomyrt xkunkoctHoro nutaura HYDRO
6 X X | A9009092 ECO 25t
11 1 X X | A2058300 | Kpoumrreitn crangaptaeiii HYDRO D10
12/24V
Kommnekt kpenexa:
- bont M8x45 + maiiba + rposep -61T
- bont M8x20 + miaiiba + rposep -4t
- Taiika M8 — 6t
- I'poBep M8 — 6T
- bonr M6x35 — 1wt
12 1 X X - - Taiika M6 — lmr

- Camope3 M6x34 — 1wt

- Xomyt V20x32 — It

- Xowmyrt kpenexHblid P40MMm — 1t
- Xomyrt cunoBoit ¥40x43 — 1t

- Kunemma 6MM — 2T

- Kunemma 8mMMm — 2T




